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1. %5 A(-2.8) ~ B(7,k) ~ C(k,~1) BARIEZRE F =85 » H A¥(EBCHEE TN Hlk=?
A) 5 B) 3 ©) —% (D) -6

2. 8% f(x)=ax®* +bx+c > a~b~ceR % f(0)=1H f(x) £ x =1&H HAME 3> QI NFI{r] & 1 2

(A) a=2 (B) b*—4ac=8

©) f(-1)=-5 (D) a+b+c=5
3. E%DO<¢9<% ’ sin@+cos¢9=§ » 3K log, sin & + log, cos@ = ?

(A) 2 (B) -1

€ -2 (D) -3

4, 3% OB FEIIRIRA » Hcow:% » 3K cotO+cschd=?

(A) -3 (B) 3 © 5 (D) 2

5. %&0ses%’[ » f(0) =-2sin*@—4sin@+5 » HIl f(0) Zi K EELR/MERIFIRS
A) -1 (B) 4
(C) -5 (D) 6

6. #%a=sin150° ~ b=c0s20° ~ c=tan70° > Hla ~ b ~ ¢ AR/ NIEF A ?
(A) b>c>a (B) c>a>b
(C) c>b>a (D) a>c>b

7.7EAABCH » E41AB=3°> AC=5°BC=7 > HIAB& FHI&EE?

33 5.3 1543 10543
(A) > (B) > (®) ETS (D) —

8. ELA f(0) =2c0s20 -1 » [ T FI5EIE R & (1 2
(A) (O EIAR Ax (B) -1<f(0)<3

€) f(2>0 (D) f(e)ﬁﬁ:%ﬁé‘fﬁ%/hﬁ

9.7%a=(43) ~ b=(-21) » WRa7Eb LIYEGTE 2
A @) ®) (-1 © (23-3) (D) (42
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10. fEAABC H1 » /A~ /B~ /CFTHE= 8 E/SRIBa~b~c> Ha=5J5 ~ b=5¢c=5/2 »
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14.

15.
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17.

18.

HIAB-AC = ?

(A) 572 (B) 75 (C) —-245 (D) -25
Zx- yeR ’E%2+y72:1 SR x+ 2y LR 2
(A) -5 (B) 5 (C) 13 (D) —+13
E%nx;l;*/g PR X =33 —2x"+9x-2="
(A) 45 (B) 25
©) 5 (D) —245
WX -3x-2=0Z2"RBa ~ g HILla® ~ 2 EARAHT T RE XA R] 2
(A) x*+13x-4=0 (B) x*-13x+4=0
(C) x*+5x-2=0 (D) x*-5x-2=0
2x+1 A Bx+C
_ J H _
2R D02 X1 12 AlA+B+2C ="
(A) 2 (B) 3 ©) -1 (D) -3
C4lli=v-1>a~beR > H(2a-5)+(a-2b)i=3* Kaxb="?
(A) 2 (B) 4 (C) 6 (D) 8
oVl z =300 R e
\/§+I
(A) Z 2 W Arg(2) = ®) |z |=1
©) _f‘i%zzﬁ?mﬁ (D) Z:“fi
Y IR (cos3¢ +isin36)(cos6d +isin6d) _ o,
i : cosd —ising o
1 3. 1 3.
(A) _E+7I (B) E+7I
31 V3 1.
(C) 7+E| (D) —7+E|
Fa>0 Ha®=7+443 > Sﬁa;:iz:ix =7
(A) 2++/3 (B) 7+443
©) 3 (D) 5
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19. KA FEX 9" — 4.3 + 27 = 0 ZF B FRIIFIE ] 2

A) -1 (B) -5

C€) 2 (D) 3
20. i#3K (log, 25+ log, 5)(log,,; 8 + log; 32) =

4 3

(A) 3 (B) > (C) 30 (D) 15
21. HKAZEK 0 < log, (log, x) < 1VEEERE % /Dl 2

(A) 13 (B) 12

(€) 11 (D) 0

n 9
22. I Y & =n*-23 2 GK D a =
i=1 i=4

(A) 72 (B) 65
(C) 60 (D) 51
seskemgsapey 4y oLy L1y SN U ;i
23. nf(;k/mgﬁif\&ﬁﬁ(?’ 5)+(32 52)+(33 53)+ +(3n 5n)+ Z A 2
13 15 1
(A) n (B) " ©) 2 (D) 3
. 3—4i 4-2i,
24. CHli=+-1 > “H%Z, —(2 A e ) K22, ]=7

(A) 245 (B) g ©) 4 (D) 20
25. ZHEN f(x) =2x° +mx® —4x+nBRUAx+2 288 E 6 » Hx-15 f(x) WX > Km-n="7?

(A) -2 (B) 4
€ 5 (D) 6
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